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isleminin sonucu hangisidir’?
A) 71 B) 91
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isleminin sonucu hangisidir”?
A) 73 B) 72
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isleminin sonucu hangisidir?
A) 97 B) 86
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isleminin sonucu hangisidir”?
A) 76 B) 66
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isleminin sonucu hcngisidir?
A) 94 B) 85
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isleminin sonucu hangisidir”?

A) 78 B) A7
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C) 63
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isleminin sonucu hangisidir”?
A) 62 B) 61
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isleminin sonucu hangisidir”?
A) 65 B) 55
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isleminin sonucu hangisidir”?
A) 74 B) 86
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isleminin sonucu hangisidir?
A) 97 B) 88
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isleminin sonucu hangisidir?
A) 55 B) 35
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isleminin sonucu hangisidir”?

A) 64 B) 74
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C) 51
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